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h(x)= =0,h(x,)= =0
(x) () (x2) ()
Vxel,h'(x);tO.
HH P A% B B E B
Elr;’e(x],xz)cI,S.t.h'(cf):M:O,%E!
WS (x)FE R PINE R B#RA g (x)i—DE AL
6.(1)pr00f:
h(x)=e”f(x),xel,h'(x I: :|
h(x)=e"f(x)= 0h(xz)= f(x )
FhA% B H B BE

age(xl,xz),s.t.hv(g)=w=o,m of (£)+ 1(£) =0
HUES (x )RR D Z R IEFRIA £ (x) + af (x0T —DF A
6.(2)pr00f.

Lh(x)=x"f(x),xe(x,x,) = (0,40),h"(x)=x"f(x)+ax*" ['(x).
h(x)=x'f(x)=0,h(x,)=x51(x,)=0.

FH A% B 1 R B E B
Ice (xl,xz)c (0,+oo),s.t.h'(§) =W= 0,ie. g"“f(f)+ag"“’1f'(§) =0
=&5f'(&)+af(£)=0

WS (x) R E AN F R 2 B RAT X (x) + af (x I —DF



9.(1)pr00f:

17 (x) = arctan x(x > 0), £1(x) =, £ "(x) =~ 25 <0, s (o) PR B LR,
1+x (1+x2)
a)- f(b
EI§e(a,b)c(0,+oo),s.t.f'(§)=%
I'(b)<f'(§)<rf(a)
-f(b
:>f'(b)<—f(a2_£( )< (a)
a-— a-b
= - <arctana —arctan b < >
l+a 1+b
9.(2)pr00f:
B/ (x) = Inx(x > 0), /(%) %, £(x)= _%< 0, ef " (x) A R,
—f(b
El(:G(d,b)C(o,-i-OO),S.t.f'((:)Z%
['(b)<s'()<S"(a)
a)- (b
= p(p) <1221 ) 3_5( ) < 1'(a)
a—>b a a-b
= <ln—< .
a
9.(1)pr00f:

Elf(x) =x’ (x > 0),f'(x)= px”’l,f"(x)zp(p—l)x’”2 > O,é&f'(x)ﬂzﬁﬁiﬁﬂiﬂii.
a # b},

EI§e(a,b)c(0,+oo),s.t.f'(§):W
1'(6)> 1()> 1 (a)
= ri(p)> LATO) )

:pb”’l(a—b)<a” -b? <pa”’1(a—b).
a = b, pb”’l(a—b)za”—b”=pa”’1(a—b)=0
Zib, Va,b>0,p>1LF NG pb" " (a-b)<a” —b" < pa” (a-b)



